3.4 – Transformations of Cubic and Quartic Functions.
y = a ∙ f(k(x-d)) + c
1.  Create a table for the parent cubic function and the parent quartic function.
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2. Read the following example.

Describe the transformations that must be applied to [image: image6.png]


to graph
 [image: image8.png]-32x-4) +2





And then graph this function.

· Reflected in x-axis

· Vertically stretched by factor 3

· Horizontally compressed by factor ½

· Translated right 4 units

· Translated up 2 units
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 (divide by 2)
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(multiply by -3)
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(add 4)
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(add2)

	-3
	-27
	-3/2
	81
	-3/2 + 4 = 5/2
	83

	-2
	-8
	-2/2
	24
	-2 /2 + 4 = 3
	26

	-1
	-1
	-1/2
	3
	-1/2 + 4 = 7/2
	5

	0
	0
	0/2
	0
	0/2+ 4 = 4
	2

	1
	1
	½
	-3
	1/2 + 4 = 9/2
	-1

	2
	8
	2/2
	-24
	2/2 + 4 = 5
	-22

	3
	27
	3/2
	-81
	3/2 + 4 = 11/2
	-79
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3. Describe the transformations that must be applied to [image: image18.png]


to graph 
[image: image20.png]y=-8Gx+1)3-3



  (DON’T FORGET TO FACTOR OUT THE K FIRST)




y = ___________________________________________



a.



b.



c.



d.



e.

4. Convert the parent table to get the transformed table.
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5. Decide the end behaviours of your graph.   __________________________________________

6. Graph the function.

7. Check your answer using the solution on page 151 in your textbook.
8. Complete pg 156 #2c and f

9. Read Example 2 on page 153.

10. Close your textbook and try the question on your own.

Determine the x-intercept (s) of the function [image: image25.png]y =3(x+6)*- 48




11. Read the following example.  
Determine the x-intercept (s) of the function [image: image27.png]—2(x—4)°+16





Let y = 0 to find the x-intercepts
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The x-intercept is 6
12. Complete pg 158 #9a,b

13. Today’s Homework: pg 155-158 #1 – 11
